

Taj Mahal



Timeless elegance of golden and grey veined quartzite

GRESPANIA COVERLAM COVERLAM TOP



02 09 02

COLORS

FORMATS

TEXTURES



GRESPANIA
CERAMICA

Taj Mahal



LIANA TECA NATURAL 120X260 • HERMITAGE ARENA NATURAL 120X120 • TAJ MAHAL BOOK SAND PULIDO 162X324 •
TAJ MAHAL BOOK SAND PULIDO 162X324



TAJ MAHAL SAND NATURAL 120X120

Taj Mahal



LIANA TECA NATURAL 120X260 • HERMITAGE ARENA NATURAL 120X120 • TAJ MAHAL BOOK SAND PULIDO 162X324 • TAJ MAHAL BOOK SAND PULIDO 162X324



TAJ MAHAL BOOK SAND PULIDO 162X324 • TAJ MAHAL BOOK SAND PULIDO 162X324

Taj Mahal



TAJ MAHAL SAND PULIDO 120X278 • TAJ MAHAL SAND NATURAL 160X160

Taj mahal | Floor tile

GRESPANIA

Colors



Sand



White

Decorative pieces



Ceilan

WHITE 08CE-40
SAND 08CE-70



Oman

WHITE 41TJ400
SAND 41TJ700

References

		120X120 10 mm	60X120 10 mm
WHITE	PULIDO	36TJ40P	44TJ49P
SAND	PULIDO	36TJ70P	44TJ79P

		120X120 10 mm	60X120 10 mm	30X60 10 mm	60X60 10 mm
WHITE	NATURAL	36TJ40R	44TJ49R	46TJ42R	82TJ45R
SAND	NATURAL	36TJ70R	44TJ79R	46TJ72R	82TJ75R



FINISHING - PULIDO



FINISHING - SATINADO



RECTIFIED - YES



SHADE VARIATION - SUAVE



MINIMUM WIDTH OF TILE
JOINT - 3



NO STAGGERED TILE JOINTS
- SI



SLID. UNE 41901 - Clase I

B

UNE-EN 16165:2022 Anexo
A - B

Taj mahal | Slab size **COVERLAM**

Colors



Sand

References

	120X278 5.6 mm	160X160 8 mm
SAND PULIDO	78TJ78P *	88TJ7P8

* Mesh

	120X278 5.6 mm	160X160 8 mm
SAND NATURAL	78TJ78E *	88TJ708

* Mesh



FINISHING - SATINADO



RECTIFIED - YES



THROUGH-BODY - SI



COLOURED-BODY - SI



SHADE VARIATION - SUAVE



MINIMUM WIDTH OF TILE
JOINT - 2



RES.STA. DIN 51130 - R9



UNE-EN 16165:2022 Anexo
A - A

Taj mahal | countertop COVERLAM TOP

Colors



Sand

References

	162X324 5.6 mm	81X324 12 mm	162X324 12 mm
SAND PULIDO	80TJ7AP [*] , 80TJ7BP [*]	88TJ73P [*]	88TJ76A [*] , 88TJ76B [*]

^{*} Mesh

	162X324 5.6 mm	81X324 12 mm	162X324 12 mm	162X324 20 mm	Otros formatos 5.6 mm
SAND NATURAL	80TJ7A6 [*] , 80TJ7B6 [*]	88TJ713 [*]	88TJA76 [*] , 88TJB76 [*]	90TJ70A [*] , 90TJ70B [*]	80TJ76A [*] , 80TJ76B [*]

^{*} Mesh



FINISHING - PULIDO



FINISHING - SATINADO



RECTIFIED - NO



RECTIFIED - YES



THROUGH-BODY - SI



COLOURED-BODY - SI



SHADE VARIATION - SUAVE

R9

RES.STA. DIN 51130 - R9

A

UNE-EN 16165:2022 Anexo

A - A

Taj Mahal

Packing

Floor tile **GRESPANIA**

Dimensions	Pieces per box	kg/box	m2/box	Boxes/pallet	m2/pallet	kg/pallet
120X120 cm - 10 mm	1	33,61	1,42	38	53,81	1.277,18
30X60 cm - 10 mm	6	24,20	1,08	40	43,20	968,00
60X120 cm - 10 mm	2	32,20	1,40	27	37,91	869,40
60X60 cm - 10 mm	4	33,31	1,44	32	46,08	1.065,92

Slab size **COVERLAM**

Dimensions	Pieces per box	kg/box	m2/box	Boxes/pallet	m2/pallet	kg/pallet
120X278 cm - 5.6 mm	13	636,48	43,37	1	43,37	636,48
160X160 cm - 8 mm	1	57,00	2,56	17	43,52	969,00

Countertop **COVERLAM TOP**

Dimensions	Pieces per box	kg/box	m2/box	Boxes/pallet	m2/pallet	kg/pallet
162X324 cm - 12 mm	20	3.097,60	104,98	1	104,98	3.097,60
162X324 cm - 20 mm	14	3.528,00	73,48	1	73,48	3.528,00
162X324 cm - 5.6 mm	46	2.967,92	235,52	1	235,52	2.967,92
81X324 cm - 12 mm	12	929,28	31,49	1	31,49	929,28
Otros formatos - 5.6 mm	46	3.042,90	241,44	1	241,44	3.042,90

No. of Faces

120X120 cm	9	120X278 cm	3	162X324 cm	2
30X60 cm	40	160X160 cm	6	81X324 cm	2
60X120 cm	15			Otros formatos	2
60X60 cm	30				

Downloads



Certificates



Sustainability
Catalog

GRESPANIA

CERAMICA

CENTRAL OFFICE GRESPANIA Ceramics
CV-16 Ctra. Castellón-Alcora, Km.2, 200,
12006 Castellón, (España)
Tel. +34 964 344 411
Fax. +34 964 344 401

Nules
Carretera Nacional 340, km 954, 12520
Nules, Castellón (España)
Tel. +34 964 344 411
Fax. +34 964 344 411

Moncófar
Cami de cabres S/N, Poligono Industrial
Casablanca, 12593 Moncofa, Castellón
(España)
Tel. +34 964 344 411
Fax. +34 964 344 411

Grespania Italia, S.R.L.
Via Paletti, 28-30, 41051 Castelnuovo
Rangone (MO) (Italy)
Tel. +39 05 953 88 77
Fax. +39 05 953 89 09

Grespania France, S.A.R.L.
Rue de Strasbourg, 12, 77340 Pontault
Combault (France)
Tel. +33 16 018 14 00
Fax. +33 16 018 14 09

Grespania UK Ltd.
Unit 302 Hollymoor Point, Hollymoor way
Rubery, Birmingham B31 5HE (UK)
Tel. +44 0121 457 6900
Fax. +44 0121 453 1094

Grespania Benelux, B.V.
Hoppenkuil 35, 5626 DD Eindhoven (The
Netherlands)
Tel. +31 40 262 92 62
Fax. +31 40 262 92 69

Grespania Polska SP Z.O.O.
Życzliwa 17, 97-300 Piotrków Trybunalski
(Poland)
Tel. +48 44 733 60 80
Fax. +48 44 732 50 10

Grespania USA LLC
777 Brickell Avenue, Suite 1210, Miami, FL
33131 (E.E.U.U.)
Tel. +1 786 721 4221

Grespania ASIA PTE. LTD
120 Lower Delta Road, #02-02, Cendex
center, Singapore 169208 (Singapore)
Tel. +65 98614196

SERVICE CENTERS

Madrid
Calle Rio Miño 1, 28320 Pinto, Madrid
(España)
Tel. +34 910 701 215

C/ Bosc Tancat, 9, 08290 Cerdanyola del
Vallès, Barcelona (España)
Tel. +34 686 087 658

Santiago de Compostela
P.I. del Tambre. Vía Edíson, 52, 15890
Santiago de Compostela (España)
Tel. +34 981 55 27 97

Granada
Pol. de Asegra Navegran, 13-55, 18210
Peligros, Granada (España)
Tel. +34 958 40 16 40

GRESPANIA S.A. has a management
system certified in accordance with
ISO 9001:2015 (Certificate No. 44 100
23510095) and ISO 14001:2015
(Certificate No. 44 104 23510095) at its
plants in Nules, Castellón, and
Moncófar.



www.grespania.com